In [1]: import IPython.display
IPython.display.display_ latex(IPython.display.Latex(filename="../macros.tex"))



Introduction in reinforcement learning

[ Agent

action
a,

Environment

Initializing the strategy 71 (A|.S)

Initializing the state of the environment s;

t=1,2,3..D0
agent choose action a; from 7; (a|s;)
environment create reward 7,1 and state s;
agent correct strategy m; 1 (A|S)

if s; -terminal STOP



Q-learning

Q) (s, a) - value functions of the pair state and action - expected value of reward
argmaz,m(als) = argmaz,Q(s,a)
Fitting:
Q(st,a1) := Q(st,ar) + 0¢ (res1 + v * maz,Q(s41,a) — Q(st,a1))

0; - learning rate (the more the stronger the confidence of new information) «y - discount
factor

If

o0 o0
g a; = 00 and g a? < 00

then the method converges to the optimal strategy.



Generative adversarial network (GAN)

e Discriminator Network ‘
D-dimensional

noise vector

I - Generator Network — -

Predicted Labels

It allows, for example, to generate images that are perceived by the human as natural

images.




HelipoHHbIE ceTH Ha MOOMNBbHDLIX YCTROUCTBAX
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AvncTnnauua

OcHoBHasa naes ectb Moaernb y4nTenb U MoAerNb YYEHUK YUYEHUK NbITaeTCsA BblyYNTb HE
MCXOAHYI0 pa3MeTKy a TO YTO npeackasan yuynTenb
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OcHoBHas nges He Bce Beca ouIisTpbl B HEMPOHHOW CETU OAMHAKOBO MNosiesHbl. [laBante
HEMHOrO NoApeXXeM CeTKY N BbIDPOCKMM Te KOTOpPble BHOCAT MMMakTa MeHbLLE BCErO.

Kak byoem namepaTb BaXXHOCTb counbetpa?
OuyeBuaHbI oTBeT L1 HopMma.

HeouyeBuaOHbIN OTBET ApYyrue MeTPUKW.
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KBaHTOBaHUe

nepexon U3 float B int
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